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Ques 1. ANS (B) Solution:

M>S---()
N >S---(ii
S > P ---(iii)
Q> N---(iv)

BRI (i), (i), (i) T (), Q> N/M > N > P
3d: JoU BT P B

Ques 2. ANS (D) Solution:
Let us draw the family tree

Anurag's father

Father

Anurag 4____.Mamed Goupe Anurag's wife

J Daughter

el
W\“
Girl

The daughter of only child of Aurag's father will be daughter
of Anurag. Thus, Anurag's wife will be the mother of his girl.
Ques 3. ANS (B) Solution:

13 +23 =36,23 + 36 = 59,36 + 59 = 95,

59 + 95 =154

el < emelt & drTwhd ofTel TR 7

3{d: ? = 154

Ques 4. ANS (C) Solution:

18, 2 24 T
: 31 3 x —> A —>|D
0 12 19 I \ 21
I—-’H [ —>» 00— R —>| |
6 - I 12 .2 135 '3 14
] —>L —> 0 —»| R

N gy B a8 26 -3 3, 3, ()
T—wW-—>7z —C —7| I
3{d: ? = DURF
Ques 5. ANS (D) Solution:
3 Tt e g U WSt &1 § Jafd 61 - 69 Th
YIS AT § | 3fct: faed (d) o quft @ i ]
Ques 6. ANS (B) Solution:
%r%m,éﬁﬂamﬂaﬁwmm% 3d: BR 3= It J far

I
Ques 7. ANS (A) Solution:
O UHR GIST &1 TlfelT 91! giail 5, S9! YBR HR BT TiferT
AR gt 5
Ques 8. ANS (B) Solution:
Y HI &b AR G T Ui FTHH T 7 -
(3) Detachment — (1) Detective — (2) Deter — (5)Dictate
— (4) Different
Ques 9. ANS (C) Solution:

2 9 @ﬂ lapplcs
8 0 A@ We chillies
9 5 lA I haremangoes

s/ [like=3

Ques 10. ANS (A) Solution:

+=——=xX,X=%+=+
240 + 60 — 15 x 25 + b TeT TR
Uit Hfhat @) uRad avd &d & W

24060 — 15 +25 -5

15
240 + 60 x E—f)

240+ 36 —5
240 4 31

=271
Ques 11. ANS (A) Solution:
12# 168 = 14
168
12
13#78

= 14

15#165
165
,__T_ — l
15
Ques 12. ANS (B) Solution:
YT W™ T,
10+2=12
fada T 3,
7+2=9
il WA g,
4+10=14
Ad: 2 =14
Ques 13. ANS (C) Solution:

e

FHlEH

5y | : $© Pled HUSTR
sy 11 @ pUST Pl
fspe | 3R 11 T I
Ques 14. ANS (A) Solution:

UY 3MTpTd & Ufdfara Dl FR MBI (a) BT SHTHfd YR b
Ques 15. ANS (C) Solution:




NS 9K,

S

CYPRI OT—53 XBKI RLG

LI |

Ques 16. ANS (A) Solution:

T 3T IR 3P (a) H FARARI

Ques 17. ANS (B) Solution:

TY B BT U0 Tfafea IR 31Pfd (b ) & JHH s
EUil

Ques 18. ANS (C) Solution:
S Q P R T

3fd: R BdR & 3 H g /M W g
Ques 19. ANS (B) Solution:

Ques 20. ANS (C) Solution:
B A

24 faw,

61 .

19 fadn

43 P,

| et
T AP TEH A B (61-27) = 34 oot udm feem A &1
Ques 21. ANS (D) Solution:

1 1 22
@) 3 16 ) 9
+3 +3
Jinc38
(C)Zl 24 (@ 33 ‘
+3 iR

Ques 22. ANS (A) Solution:

Ques 23. ANS (B) Solution:
JGK 31 Jo8 I Tefid rar g, S fheiREa 711
Ques 24. ANS (A) Solution:
g U HFE U 81T ifeh 50 st oft Rapeadf sfwi &t
N7 7 TET B | 3a: 3fh 6 % fAuRid s WR 1 8N
Ques 25. ANS (A) Solution:
T+2+3+4+5+46+7+8+9+10+11+12=78
2492 H = 2x78=156 IR
Ques 26. ANS (A) Solution:
10 AT ¥ 25 RA®R dF Hd 7 = (31 - 10) + 30 + 31 + 30
+31+31+25=199
7) 199(28

196

Xxx3
3ty fa = Ypar + 3 e = IFaR
Ques 27. ANS (A) Solution:
WA : I FSHY SR FHRd § | TG fahIe & HRUI

fay & T T R af TEd B |
Ques 28. ANS (B) Solution:

1 8 27 64 125  [216]

S S S S A
-
Ques 29. ANS (B) Solution:
16 x4 +M=8

16x4
M =8

Ques 30. ANS (B) Solution:

The region 4 is common to youth and job but not educated.
Ques 31. ANS (A) Solution:
ma%qcfa;aﬁmahzgwm;ﬁwsaﬁmm@a
Je ol

Ques 32. ANS (B) Solution:

Sie B S B HRAT IUHRIET # ST Wi B, Riferd yfey
R JS S aTeh e & O A & oy SaoiR e axem
TSl &, 5 o 1 3afy 7 g1 § | 987 U I 0" A 7 dd
3T SR WG HHd BT HIGH B ol BHal(or) stare Gl
& FU A +ft foran ST §) FT HI9H BT A 5

Ques 33. ANS (A) Solution:

e & g I o, It wrdTedt S91 gd #, 59 & NS
AASH, fAgeiex ¥ = AT B U Saa L& B 3R
IR 31T, Ui TR $IR S & o ure |l o ugan
& forg ot A1 gt 37 Sf@T A o gd ot S ¥ SHR
TR e R & I 7 0 ge1 Y= (3, gl o
W Ui 3|

Ques 34. ANS (D) Solution:

TR T, ISTET (@A 5 [eR & IR b1 yepel 1) w7 b
e oft | feae a1d 98 § o QR A o BT W g
ISTET UgTSal & offa fRud ueh Ao e o1l are &, et
ITdTec! $91 gd B, ST B UeTgd B RIMidRd & a1 |




Ques 35. ANS (A) Solution:

TEwS fo qUa® & HTd &b GRIF 3§ a9l 3 ©: a¥f db
Hal g1 iRl & w0 § S foba |

Ques 36. ANS (A) Solution:

fafe=ur & oo a1 wefa soagHI gRT Ifoid A1 a1
fagga gy fafe=ur (mar-fevon @ Fer 7u 3= 1fa
Uit o M 8 Ihd &

Ques 37. ANS (A) Solution:

3fr3acts Hfau ¥ fore M dw:

1. 39 Afd & e Rigidl 31 sfayron

(SRS A 38 T ¥ SYR ferm)

2. yufd & a1 fafer

3. PR GRT IASIGHT & Ta! BT AHIDBT

Ques 38. ANS (C) Solution:

oS F IHRA TR T g3 g Bl oadt 2023 H ICC 7Y
IR 30 T HY QRIDHR FaM fobar | fdHeR 20220 A
WRR 3T g HY (a1 & 41 H ¢f 39 S[ASRI H Ufbd = &
TR JeiaTs JIaR o R el & efaugs ¥,
England's rising star batsman Harry Brook was awarded the
ICC Men's Player of the Month award in January 2023.
Pakistan's star batsman Babar Azam and Australia's Travis
Head were the two other contenders in the race for the
Men's Player of the Month award for December 2022.

Ques 39. ANS (A) Solution:

BTE1 B 2 R 3 o1 SRR B B 7 70 Y S
(ESCAPADE) 3iJ5% 3o 8 SuaRiiutiudls uas fe=-wassioe
T S R B

Recently NASA has awarded ESCAPADE contract to Blue
Origin Company's New Glenn. ESCAPADE is a twin-spacecraft
Class D mission.

Ques 40. ANS (A) Solution:

The beginning for this was in 1754 when the first post office
was opened in Calcutta (now Kolkata)

Ques 41. ANS (B) Solution:

The Surat Split of 1907 had two parts. 1. The Indian National
Congress (INC), which was established in 1885 by A.O Hume,
was divided into two groups(in the year 1907) mainly by
extremists and moderates at the Surat Session of the
Congress.

Ques 42. ANS (A) Solution:

Mount K2, located in Jammu and Kashmir and also known as
Godwin-Austen, is the highest peak of India. ... Mount
Kanchenjunga (also spelled as Kangchenjunga) is located at
the border of Nepal and Sikkim (India). It is the third highest
mountain in the world with an elevation of 8,586 meters
above sea level

Ques 43. ANS (D) Solution:

ReNew Power A ®Hicd & T | YR BT UG 3x WICHIH
WTGs 1o fora 81 g U yaH eafe SFkex 31 &1 ugelt
RS & Felich’ TRt St U1 7 fewar g1, St e,
IR 3R St FHolf HSRUT JumTedt (BESS) I Sisdl B

ReNew Power has installed India's first 3x platform WTGs at
Gadag, Karnataka. These new wind turbine generators will be
part of the country's first 'round the clock’ renewable energy
project, which combines wind, solar and battery energy
storage systems (BESS).

Ques 44. ANS (B) Solution:

Venus is sometimes called Earth's twin because Venus and
Earth are almost the same size, have about the same mass

(they weigh about the same), and have a very similar
composition (are made of the same material). They are also
neighboring planets. However, Venus and Earth are also very
different. Venus has an atmosphere that is about 100 times
thicker than Earth's and has surface temperatures that are
extremely hot. Venus does not have life or water oceans like
Earth does. Venus also rotates backwards compared to Earth
and the other planets

Ques 45. ANS (C) Solution:

The Davis Cup is the premier international team event in
men's tennis. It is run by the International Tennis Federation
(ITF) and Kosmos Holding and is contested annually between
teams from competing countries in a knock-out forma

Ques 46. ANS (C) Solution:

T fRuaia fauRieT o WR & T ¥y FHem oI
Tefifd et & e 3 faurh we ga § 1 oo R §, we
faTfties yormelt & <) wrdla el 2fHe 81 Ibd 8

Ques 47. ANS (C) Solution:

i grarS a1 'faord &7 71, TORTd IR S0 Siid 794 & fog
DR GRT 1601 TSI H §I1IT 7T UT| T g QR Wil H He
1 A YARI GR &, S HRA & 3RT ¥ 43 fdt R 3

Ques 48. ANS (B) Solution:

Concave mirrors are used in search lights and torches so that
we have a more focused light beam which will not diverge
out and hence help in searching. It is used for different light
rays falling on it to a single point

Ques 49. ANS (A) Solution:

Marathi too is derived from Sanskrit, like many other Indian
languages. They both use Devanagari script. Many Goa
people speak them both easily. The Official Language Act of
1987 made Konkani Goa's official language.

Ques 50. ANS (D) Solution:

uRwg 15 Yl A &1 &:

Ug Rl gew: 94, i, T 99, gArses fHreH, ok
Tgad T AR, 3R TH TR-WIT T 3TH THT gRI &l
T & e g9 7Y (@ @t AR & ofd & W)

Sefifaar (2018), e SYBMEARR (2019) ,FHeiRgd f
(2019), 3T (2018), FERIH (2018), FAd (2019)
FreegH ,(2018) UF (2019), TS (2019), WS (2018)
Ques 51. ANS (A) Solution:

Ease of living index (EoLl) and Municipal Performance Index
(MPI) 2019 have launched by the Ministry of Housing &
Urban Affairs. The indices designed to assess the quality of
life of citizens in 100 Smart Cities and 14 other Million Plus
Cities. This will help Municipalities in better planning and
management, filling the gaps in city administration, and
improving the liveability of cities for its citizens.

AT SR G T & HATR GRT 391 311w farfa s
S3NTASATS) 3R TTRUTIBT Y Faebics (TAUTSE) 2019
= o T g1 100 TTE TeRT SR 14 o= fAfera wr 2reRt
T AR o S1a- 1 UIGTT B 3B B & T JADHID
fETTs fopT U | SO FRUIfr1S BT SR e 3R
el B Hag fHert, Sl eR & YR H SfaRid & 4R SR
U ARTRD] & foTT W8 & g B &8 | GUR BT

Ques 52. ANS (A) Solution:

THT & 3R, 5 gal H 78.09% ATSEIoH, 20.95% Hgaier,
0.93% 3T, 0 .04 % FTE STEHTHTS Bl 5

Ques 53. ANS (B) Solution:




Miss Universe 2022 Winner: f& qﬁ—dﬁ 2022 % faR & W
BT U 81 IHT 8. SMARDT &b g AT e 7 Smferg 719
o qﬁaﬁw dTS USA &1 R'Bonney Gabriel 319+ Y foar
g

Miss Universe 2022 Winner: The name of the winner of Miss
Universe 2022 has been announced. USA's R'Bonney Gabriel
has won the 71st Miss Universe title held in New Orleans city
of America.

Ques 54. ANS (C) Solution:

ST & W1 BY X1 AT S-HRER BT 18 UgdH a7 381 ¢ |
SH HS T 3T TH-HIAR DI T ave Y fSiofed oA &1
Trrer foran T B | Me # ofd et SiTthers e aTd gHIT IR
FRIEE]

Rapid development is becoming the new identity of Jammu
and Kashmir. In this series, it has now been decided to
completely digitize Jammu and Kashmir. All offline services
have now been terminated in the state.

Ques 55. ANS (C) Solution:

U S JH A 12 BRAR B HGRTY & J9UId & & H
I RiE PR 3R TERT F IIRISIUTS & =Y H 14T HFOME
AR 3 &I B bR PRd §Y 13 U IeuUTe Figed |
President Draupadi Murmu on February 12 appointed 13 new
governors accepting the resignations of Bhagat Singh
Koshyari as Governor of Maharashtra and Radha Krishnan
Mathur as Lieutenant Governor of Ladakh.

Ques 56. ANS (D) Solution:

On March 4, 2020, the Rashtriya Suraksha Diwas or National
Security Day was celebrated throughout India. The Day is
celebrated to honour the work of Indian Security Forces. This
includes every security personnel, policemen, para military
forces, guards, commandos, army officers, etc. The National
Security Days is being observed on March 4 every year
because, the National Security Council was established on
the very same day.

4T, 2020 B QX HR H AT FR&(M feas 7y 11| Rt
IRET A & BT BT THH A P o€ I8 {§a9 gm0 St g
T g R, gRrae, siife g@, mE, wuiel IMF
ISR anfe wnfira &1 i WRem feaw &= ard 4 ard &Y
HATT STl ¢ R, ST YR&M URYG BT RTG530 &7 &t
TS R

Ques 57. ANS (B) Solution:

Luxembourg in Europe has become the first country to make
all forms of public transport free. It is the second smallest
country in the European Union. The project of making public
transport free is a dual social measure in the country. It is
funded by the tax payers. This will help low earners save
money. Also, the burden is shouldered by the better off
population.

RIY & daemaT qidei-e uRagy & Tt ©uf &1 Wdd a9
Tl Ul <=1 S T B 1 U8 TG WY BT gERT G BleT 3
B i aRag gud s 31 aREIeHT <=1 U gredt
IS AIY | 98 HR grarel gRT faxt Uit 31 399 &1 o
Il B U s H g e

Ques 58. ANS (A) Solution:

9 9Td 2023 aﬁﬁ%l oI feag wifig % — Accelerating the
change to solve the water and sanitation crisis BBV IRCCRE:]
GEI

This year the theme of World Water Day 2023 is —
Accelerating the change to solve the water and sanitation
crisis.

Ques 59. ANS (C) Solution:

T AeUTere TRAT (MAN) U Sedd § S Yimiferes &
IR & Y IUANTH A B U g8 W &8F Fead gRI
HaR a1 T B, AT AU &7 Feah GRI HaR &F 4 BIel
gl

Ques 60. ANS (D) Solution:

Apaiz® fadbaimor (Democratic Decentralization) 3TRIT
YT WA (Local Self Government) P RO Y % \_ﬁ\f
R fawdl, 3 g Mol # wirta sear 3 afea
HRTGRT GREd 81 9o |

Ques 61. ANS (B) Solution:

A F. T, BS 7 17 SaTs, 1967 F 30 3f0d, 1973 9
IEqH AT & AR U4 21 15, 1977 F 21 ST,
1980 b Tl YHT b (eAE b U JRN foba |

Ques 62. ANS (B) Solution:

o Efean fifiies 7 Sia yae s a8 @S & Ay
T g AuRRor aueha R gwaer feu | v giemr 2022 #
YRA B AR FA § S B 38R 1M 3R TR-ufdgd o
OISl I FG1AT & & IRBR & A&d BT TH FR & o18 R
B TS

GAIL (India) Limited signed an advance pricing agreement
with the Central Board of Direct Taxes (CBDT). The APA
scheme was introduced in 2022 to improve the ease of doing
business in India and to support the government's goal of
promoting a non-adversarial tax system.

Ques 63. ANS (C) Solution:

YR & Udhol TSI ¥ 19 AT P! G181 H Her faferagy ts
HHR BT (QBSF) SfbTeH! H Wl T BIg-d & gHadd
oI GHTT &1 5-1 F BIDBR 100-30 TREY & T TR
faferrSy RIdTa SRAIR I[WT1 25 TR & §eAd [oferaey U8
HPR PSR (IMRHTHUP) F 3y A 7 T 31 e
T 100(51)-18, 100(88)-9, 86(54)-101(75), 100-26, 100(66)-2,
101(64)-59 & R ¥ M|

India's Pankaj Advani retained his Asian Billiards title in the
100-up format by defeating compatriot Brijesh Damani 5-1 in
the final played at the Qatar Billiards and Snooker Federation
(QBSF) Academy in Doha on March 19. The 25-time
International Billiards and Snooker Federation (IBSF) world
champion defeated Damani 100(51)-18, 100(88)-9, 86(54)-
101(75), 100-26, 100(66) in the final. )-2, defeated by a score
of 101(64)-59.

Ques 64. ANS (C) Solution:

The Supreme Court has lifted the ban on cryptocurrency.
Earlier, the Reserve Bank of India had banned the trading of
cryptocurrencies in April 2018. Recently the Supreme Court
of the country has rejected the RBI order. Significantly, the
Government of India has prepared a draft bill to ban the
purchase, sale, distribution, mining of cryptocurrencies.
Cryptocurrency is a type of virtual currency. This currency is
not available in physical form, it is only a virtual currency. It is
used for transactions. Blockchain technology is used for this.
Bitcoin, Ethereum, Ripple, LiteCoin, etc. are some of the
major cryptocurrencies. Bitcoin is considered to be the first

cryptocurrency in the world, beginning in 2009.

Hdtwa Ty 3 fppieia R ol A oY ger fieun g1 39
Ugd HRATT Refd 8 7 31U, 2018 forpiepat & MR WR Jb




Tt ot BTet € H I & Tdl Aray 7 RIS & S
Bl WIS R a1 31 TRaws ¢ {6 YRd WPR fppiasdl &
%3, faesa, faavor, AR W A% @ & o e fad ur
IR D! ¢ | FPUIBI T TR BI aord gl 5| T8 el
Wi ¥0 & Iuasy Te1 Bicll, T§ Pbad STHRIT IaT [@gera
HN) B SUDT SUART AH-H & T foam ST g | 39 fow
la SaTarel BT IURT faa e g | fyediga, ghifvam,
frud, TEcaied s F© UgE fhois 81 faesiea &t
3% o1 vgah DIl THT 1T §, 39! HaiTd a9 2009 H
EERIL

Ques 65. ANS (C) Solution:

e Bt Yoo 1215 TS H fafewr oia-a & Aurerdf &
T 37 g5 | AU Blel TP AR § off S7cts b ol A gRT
oRa §

Ques 66. ANS (D) Solution:

1565 3. & faog R & favs qae & gRad I 3 & A6
TS Pt RITOAT Y, G fIS TR ®1 1565 8. H drcfiarer
1 e-aTST @F5E! &) P IS B I (bl 39 & &
Y ISR &1 S FeIRIG 1 AT | TeHT I Bt GG
1 B SR, SEHGTR, MAHUST 3R dfter Bt I of

T off

Ques 67. ANS (D) Solution:

SHTRATA FGTIE AT HETHT el GRT T 1940 H UR™
T3 T UT| 9 IATUE & SR HGT el gRT AT g
Tamre! gd Feiid RIF R U1 ga S RRuaR Sar i
11 SGLER 1940, TEfoN GRT ‘ATHNTT AU & TUH TATG!
& WR faHIeT Hid &1 1 74T TR & 9red 9 R fadieT vid
Y AT & HRUT 98¢ TG 81 M|

Ques 68. ANS (C) Solution:

Y TR A1) &) S Rad giaaeR e T et &t
SEffan § 4RGP oG Fgad fosar man 8. e wrer Rt
DI ARR T g W) & 1y a1 7 3. &, Sieh, Smeht
3R g yreaft oR tereft AreT @ St UhS .

Neelakshi Saha Sinha, the official translator of Prime Minister
Narendra Modi, has been appointed as the Ambassador of
India to Armenia. Neelakshi Saha Sinha has often been seen
with PM Narendra Modi. Neelakshi Saha has a good hold on
Hindi, English, Bengali and French languages.

Ques 69. ANS (B) Solution:

dfdes ot fafird SraRTamae U & T YfieT Aum
AT U IS AT 81 30 Jauud Wi & Iqra-faget
FIdt fdeeed 2fd = 1780 o gafiia faan u1| Afdee orc U
1S fafers 3 & T SR C;H,0,, B 1 HOR M
PR THT §UR Afdee 317t &b T b HRUT T3 gl B
Ques 70. ANS (B) Solution:

MY BIUT: HIVT Sl U IR X1 AT fbor ge1sh & foig R
Ydg &b dead & WY AT B |

WRIGIA HIT:- UfAfsfad Idg & daad & A1y Th aRaferd
fhRU1 GRT ST BT

Ques 71. ANS (D) Solution:

(32-12)% = 25 %o

20% = 25
25
100% = 20 x 100 = 125 %o (C.P)
Q;JES 72. ANS (A) Solution:
s = (12+3 +5);(15+3+5)
43
=3 =215

Ques 73. ANS (C) Solution:

2
%a—%b+c—2a+3(b—c)-—gc

:ga—gb+c—2a+3b—3c—~§—c

2 3 2
-2 S -3_=
0(3 ]+b[3 2]+c(1 3 5)
4 3. 12

= - —-—b-—
3{]+2 5\'.‘

, -12
HAd: ¢ &l ToH = T

Ques 74. ANS (C) Solution:

Ques 75. ANS (D) Solution:

1
5x10% +6x 10 +4 x 10— —
x 10 3)<1

= 50000 + 6000 + 40 - 0.03
= 56039.97

Ques 76. ANS (B) Solution:

_ 4
tano = 5
sin@ 4
cosé 5
3sinB—2cosO 3x4-2x5 2
A9 26in0+3c0s8 = 2.453x5 23

Ques 77. ANS (C) Solution:

2 = 0.75, 2 = 0.60

3
= 0.37, Th 0.27

3
11
Ques 78. ANS (C) Solution:

total C.P = 2‘3250 x144 = 270 %o

total S.P = 144 x 2.25 = 324 %o

= 0.42,

Slw S
®lw »n

ey A "ed =

54
% @Y = %XIOO=20%

Ques 79. ANS (C) Solution:

gfa =2 IFWE F = Wﬁmw%m

Ques 80. ANS (C) Solution:

Hl F Fem = (50-5), (80-5) 7% (65-5) % HCF

=45, 75 7= 60 %1 HCF = 15
Ques 81. ANS (C) Solution:
d(100)*
e r2 (300+r)
_ 14.48x100x100x100

5x5x305
= 1899.01 %o~ 1899 %o

Ques 82. ANS (D) Solution:




L LT

35

1 [l

— 45 —

qF FT AT
=(45-2x5)(35-2x%x5) x5
=35 x 25 x 5 = 4375 cm3

Ques 83. ANS (A) Solution:

DN | =

xxx(x+7)=30

x(x+7)=60
5x12 =60
x=5m
Ques 84. ANS (C) Solution:
AT gEe e = 7x

aoq &0 dem = 2x
Alg 7x -2x =50
= 5 =50
= x =10
iR UAEE = 14x2
=14 x 100 = 1400
Ques 85. ANS (D) Solution:
By option

" =36 =4(3 + 6) =36
36 +27=63=17(3+6)=63
37d: & = 36
Ques 86. ANS (D) Solution:
_ S.1.x100
"~ Rxt
900x100
b 5000 %o
Ques 87. ANS (C) Solution:

B 8x(1+2+......+20)
20
20x21
2
Ques 88. ANS (D) Solution:
%393

[$10 )

X

Note : 59 ¥ qu; fawn warl @ sisi w1 4m 0 = 11

® T AR B fag X 7 W W 8 € =i
y: X =8

Ques 89. ANS (C) Solution:

P Q
E—)

T—> 1:2

2
§=>22

o 2 =66 37 (Q =1 )
Ques 90. ANS (A) Solution:

71 C.P =x
120 90
XAlm = 320><100
_ 320x90 _9
= on oAU

Ques 91. ANS (C) Solution:

= —x3740 = 2 x 340 = 680

=3 x 340 = 1020
=6 x 340 = 2040
Ques 92. ANS (B) Solution:
HH A 991 B #t 313 wue: 3x q9n 2x 21
Alq 3x —14000 = 4000
3x = 18000
x = 6000 %o
B #t @=a = (2 x 6000) - 10000
= 2000 %o

Ques 93. ANS (B) Solution:

FHIR TGHS HHH FHA B D10 FAA 81 21
Ques 94. ANS (C) Solution:
PR gRI faeer S a1 31 & 9T =

120

Ques 95. ANS (A) Solution:
sin 30°.cos 45°

tan 60°

i
I W g
T 22 37246
6 _J6
2:]J6 6! .12

Ques 96. ANS (C) Solution:
532 x b6 +5.32 x 44

(7.66)2 — (2.34)?

5.32(56 + 44)
(7.66 + 2.34)(7.66 — 2.34)

~ 5.32 x 100

=—— =10
10 x 5.32
Ques 97. ANS (D) Solution:
(a+b+c)? =a®+ b+ +2(ab+be+ ac)

(13)% = 69 + 2(ab + be + ac)
169 =69+ 2 (ab + bc + ac)

100
:ab+bc+ac:T—5'D

Ques 98. ANS (B) Solution:

JIR B = 30%

T SR = 75%

ST AT = 25%
=A+B-C=30+75-25=80%
Ques 99. ANS (A) Solution:
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Ques 100. ANS (A) Solution:
(A+B) s fa A fFmrmnsm = %

(B +c)ﬁn@ﬁwﬁhwm=%
(C +A)§m'@ﬁ?ﬁ'm1mm=%
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